k“ W % ” @ Negative Exponenten von 10

Name: Datum: Ergebnis: _
804, 4 x 1002 = 1002 =
7x10= 343,6 x 107 =
1009 = g x 100% =
293,3+ 1009 = g x 100D =
10D = 8 x 10% =
840, 8 x 1001 = 1003 =
1000 = 250,5+ 1002 =
452,7 x 1009 = 670,4 + 102 =
“3x 100D = 100D =
1002 = —1x10% =
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h W % ” @ Negative Exponenten von 10

Name: Datum: Ergebnis:
804, 4 x 1072 = 8.044 1072 = 0.01
7% 10 =70 343, 6 x 10° = 34360
107 = 0.0001 8 x 107 = 0.0008
293,3+ 107 = 293300 8x 107 =0.8
1077 = 0.1 8 x 10° = 800
840, 8 x 10 = 84.08 107 = 0.001
1077 = 0.1 250, 5+ 107 = 25050
452,7x 107Y = 0.04527 670, 4 + 1072 = 67040
—3x 107" =-03 1077 = 0.1
1072 = 0.01 —1 % 10% = —100
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